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(4 marks)

2. Given the sets A={0 <x<d,xe Z} and B ={~1 <x<2,xe Z} , list

(a) The elements of the set A

.....................................................
.......................................................................................

..........................................................................................................................................
......................................................................................................................................................................................

........................................................................................................................................................................................

(7 marks)

3.(a) Complete the logic tablein figure

~q | Pl~q

| ol =8| 8| T
o1 BT o1 ] =

Figure 1
(5 marks)

2020/0570/2/A/1Q




for more free gce questions, notes and free answers, visit http:/}www.gcerevision.com or download our app "kawlo" on playstore

4, (a) Solve the inequality -7 < 5x — 2<3

...................................................................................................
.........................................

................................................................................................

5. The functions g and h are defined on R, the set of real number as follows
g:xx’+ 2and h: x> x+2, find

(a) g(2)

.........................................................................................................................................

...........

............................................................................................................................................

.............................................................................................................................................

............................................................................................................................................
...........................................................................................................................................
............................................................................................................................................
..........................................................................................................................................

(7 marks)

- 1
6.  Giveny varies directly as X and that y’= 10when x = 3’

(a) Find the relation between x and y.

N Y I OO I I T T R O T T T TR
..............................................................................................................................................

...........................................................................................................................................

.............................................................................................................................................................................................

(5 marks)
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7. The angle of elevation of the top of a tower from a point M, 20m away from the base of the tower on a leve]
050°, Find o
(a) The height of the tower to one decimal place

ground is

8.
Figure 2
In figure2, AEB is a semi-circle. ABCD is rectangle with AC=20m and AB= 14m, Find the area of the shaded
region. |
(6 marks)
9. The sum of the first n'term of a sequence is givenby 5, = 2n*—n, ne Z",
(a) Find the first three terms of the sequence
(b) State the type of sequence.
(5 marks)
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: ; 5 2 -3 0
10. Given the matrices A= and B=
3 -l 1 4)

(a) State the transpose of the matrix A

----------------------------------------
....................
....................................
..............................
...............

............................................
...........................................................
.....................................

-------------------------------------------------------
......................................................................................

................................
..............................................................................................................

( 5 marks)

Figure 3

In figure3 APQ is a circum-circle. The chord AP subtends an angle of 120° at the centre, O, of the circle. Calculate the
values of the angles
(a) x

...................................................................................................................................................

...................................................................................................................................................................................................

(5 marks)
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12.

The coordinates of the points A,B.C are (1.3), (2,y), and (4, 6) respectively. Given that A, B and Carc on a strajgl,
line, find )

(a) the valuc of y

...................................................................................................................................

...............................................................................................................................

..................................................................................................................................

.............................................................................................................................
....................................................................................................................

...............................................................................................................................................................................

..............................................

......................................................................................................................................

( 6 marks)

A ball is drawn at random from a box containing 6red balls , 4 white balls and 5 blue balls. Determine the probability
that it is '

(a) A white ball

.....................................................................
........................................................................

............................................................................................
.................................................

...........................................................................
..........................................................

.........................................
.................................................
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....................................................
.........................................................

(6 marks)
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Figure 4

In the network graph in figure 4, state

(a) The number of nodes

(b) The number of edges
(¢) The number of regions.
(4 marks
15. - o g .
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Figure 5

Fig5 is a bar chart showing 10 matches played and the number of goals scored per match by a certain team last football
scason, FFind:

(a) The number of goals seored in two matches by the team

(5 marks)

— e ~_Tum Over
2020/0570/2/A/0)




p— |

for more free gce questions, notes and free answers, visit http://www.gcerevision.com or download our app "kawlo" on playstore

SECTION B

ANSWER ALL FOUR QUESTIONS IN THIS SECTION.
EACH QUESTION CARRIES 15 MARKS

1. (i) Three friends Michael, Peter and John bought a plot for 2,800,000FCFA from a man who agreed to be paid 650,
of its value as initial deposit.
(a) Calculate the initial deposit
The deposit is paid by Michael, Peter and John in the ratio 5:3:2 respectively.
(b) Determine the amount paid by Peter
Given that 91000FCFA is to be paid as processing fee for the documents
(c) Find the percentage of the initial deposit needed to process the documents
(d) Calculate the balance expected to be paid to the man.

4 5
(ii) Given the matrix M= [2 3] , find

(a) The determinant of M
(b) The adjugate of M
(c) Hence the inverse of M

2. (i) The scores of twenty students in a Physics test are recorded as follows

70 80 78 98 84 67 98 70 80 100
87 83 70 70 88 91 70 78 88 83

(a) Represent the above scores on a frequency distribution table.
Determine,

(b) The mode of the distribution

(c) The median score

(d) The mean score

(ii) A straight line /; passes through the points P(3,4) and Q (1,-2), and meets the y-axis at R.

(a) Determine the equation of the line /, .

(b) The coordinates of the point R.
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3. Given the coordinates of the vertices of triangle, ABC as A(1,4), B(1,1) and C(3,1),

(a) Find the coordinates of the vertices of the triangle A'B'C’ obtained by rotating triangle ABC through 90°,
anticlockwise, about the origin.

(b) On a graph paper taking lem to represent lunit on both axis for values —4 < x <7 and—2 < y <10, plot
triangle, ABC and AB'C,

Triangle AB'C’ is mapped onto triangle A'B”C" by a reflection on the mirror line x + y=06
(c) Draw the linex+y=6.
(d) Reflect AB'C on the line x+y=6.

() Determine the coordinates of triangle A B"C”

4. (i) Given the function f(x)=5+3x—x2.
\_ Taking values of x for -2 to +5 and using a scale of Icm to represent lunit on both axis,
(a) Draw the graph of f(x)
Using your graph,
(b) Determine the value of x for which 5+3x—x>=0.

(c) Find the gradient of the curve at the point it cuts the y-axis
(i) P and Q have position vectors 3i+2j and —i +2 respectively. OP =30Q+20R , find

(a) 20R in terms of i and j
(b) The position vector of R
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